7	1/2	LakeCounty
7	1	Division of Transportation

# **Summary of Bids Received**

**Project:** Quentin Road Resurfacing

Section: 15-00051-10-RS

**Description:** Mill, Patch and Resurface

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$279,077.49	-28.32%	
J. A. Johnson Paving Company	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$339,732.69	-12.75%	
Lorig Construction Company	250 East Touhy Avenue	Des Plaines, IL 60018	Bid Bond	\$351,139.62	-9.82%	-\$38,219.34
Engineer's Estimate				\$389,358.96		
Design	IDOT(2)	Contract Bidder	P.	JT then Plan Rack		
Finance ————	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	<u> </u>
Construction	Project File	Request By Mail	N	ngr Capital Prograr	nming	



### **Return Bid Tabulation**

 Project:
 Quentin Road Resurfacing

 Section:
 15-00051-10-RS

 Description:
 Mill, Patch and Resurface

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		J. A. Johnson Paving Company		Lorig Construct	tion Company	Peter Baker &	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	40600275	BITUMINOUS MATERIALS (PRIME COAT)	38,776.00	LB	\$0.01	\$387.76	\$0.01	\$387.76	\$0.01	\$387.76	\$0.01	\$387.76
2	40600535	LEVELING BINDER (HAND METHOD), N70	20.00	TON	\$350.00	\$7,000.00	\$150.00	\$3,000.00	\$160.00	\$3,200.00	\$75.00	\$1,500.00
		POLYMERIZED LEVELING BINDER (MACHINE										
3	40600827	METHOD), IL-4.75, N50	564.00	TON	\$90.00	\$50,760.00	\$105.00	\$59,220.00	\$101.00	\$56,964.00	\$94.00	\$53,016.00
		HOT-MIX ASPHALT SURFACE COURSE, MIX										
4	40603340	"D", N70	1,196.00	TON	\$90.00	\$107,640.00	\$73.00	\$87,308.00	\$80.00	\$95,680.00	\$67.80	\$81,088.80
5	42001300	PROTECTIVE COAT	65.00	SQ YD	\$3.00	\$195.00	\$10.00	\$650.00	\$2.00	\$130.00	\$4.00	\$260.00
		PORTLAND CEMENT CONCRETE SIDEWALK 5										
6	42400200	INCH	288.00	SQ FT	\$12.00	\$3,456.00	\$20.00	\$5,760.00	\$12.50	\$3,600.00	\$9.00	\$2,592.00
7	42400800	DETECTABLE WARNINGS	80.00	SQ FT	\$50.00	\$4,000.00	\$40.00	\$3,200.00	\$45.00	\$3,600.00	\$40.00	\$3,200.00
8	44000158	HOT-MIX ASPHALT SURFACE REMOVAL 2 1/4"	14,321.00	SQ YD	\$3.00	\$42,963.00	\$2.50	\$35,802.50	\$3.00	\$42,963.00	\$2.90	\$41,530.90
9	44000500	COMBINATION CURB AND GUTTER REMOVAL	100.00	FOOT	\$8.00	\$800.00	\$40.00	\$4,000.00	\$10.00	\$1,000.00	\$28.00	\$2,800.00
10	44000600	SIDEWALK REMOVAL	288.00	SQ FT	\$5.00	\$1,440.00	\$10.00	\$2,880.00	\$4.75	\$1,368.00	\$9.50	\$2,736.00
11	44201773	CLASS D PATCHES, TYPE I, 10 INCH	75.00	SQ YD	\$60.00	\$4,500.00	\$60.00	\$4,500.00	\$77.00	\$5,775.00	\$25.00	\$1,875.00
12	44201777	CLASS D PATCHES, TYPE II, 10 INCH	112.00	SQ YD	\$60.00	\$6,720.00	\$60.00	\$6,720.00	\$74.00	\$8,288.00	\$25.00	\$2,800.00
13	44201781	CLASS D PATCHES, TYPE III, 10 INCH	336.00	SQ YD	\$60.00	\$20,160.00	\$60.00	\$20,160.00	\$70.00	\$23,520.00	\$25.00	\$8,400.00
14	44201783	CLASS D PATCHES, TYPE IV, 10 INCH	224.00	SQ YD	\$60.00	\$13,440.00	\$60.00	\$13,440.00	\$65.00	\$14,560.00	\$25.00	\$5,600.00
		COMBINATION CONCRETE CURB & GUTTER,										
15	60605100	TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	100.00	FOOT	\$40.00	\$4,000.00	\$120.00	\$12,000.00	\$58.00	\$5,800.00	\$60.00	\$6,000.00
16	67100100	MOBILIZATION	1.00	L SUM	\$50,000.00	\$50,000.00	\$17,500.00	\$17,500.00	\$18,000.00	\$18,000.00	\$26,083.00	\$26,083.00
17	70300100	SHORT TERM PAVEMENT MARKING	4,758.00	FOOT	\$0.10	\$475.80	\$0.01	\$47.58	\$0.20	\$951.60	\$0.01	\$47.58
		TEMPORARY PAVEMENT MARKING - LETTERS										
18	70300210	AND SYMBOLS	218.00	SQ FT	\$1.00	\$218.00	\$0.01	\$2.18	\$1.35	\$294.30	\$0.01	\$2.18
19	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	6,420.00	FOOT	\$0.25	\$1,605.00	\$0.01	\$64.20	\$0.45	\$2,889.00	\$0.01	\$64.20
20	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	3,697.00	FOOT	\$0.25	\$924.25	\$0.01	\$36.97	\$0.55	\$2,033.35	\$0.01	\$36.97
								·				
21	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,171.00	FOOT	\$0.25	\$292.75	\$0.01	\$11.71	\$0.70	\$819.70	\$0.01	\$11.71
			,				,	,				
22	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	946.00	FOOT	\$0.50	\$473.00	\$0.01	\$9.46	\$1.35	\$1,277.10	\$0.01	\$9.46
					, 5.55	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	,	, 1.00	, , , , ,	,	,
23	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	82.00	FOOT	\$2.50	\$205.00	\$0.01	\$0.82	\$2.70	\$221.40	\$0.01	\$0.82
24		PAVEMENT MARKING TAPE, TYPE III 4"	6.601.00		\$1.25	\$8,251.25	\$0.01	\$66.01	\$1.00	\$6,601.00	\$0.01	\$66.01



### **Return Bid Tabulation**

 Project:
 Quentin Road Resurfacing

 Section:
 15-00051-10-RS

 Description:
 Mill, Patch and Resurface

		T	ı					ı				
Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		J. A. Johnson Paving Company		Lorig Construct	ion Company	Peter Baker & Son Company	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
		THERMOPLASTIC PAVEMENT MARKING -										
25	78000100	LETTERS AND SYMBOLS	218.00	SQ FT	\$5.00	\$1,090.00	\$3.75	\$817.50	\$3.75	\$817.50	\$3.75	\$817.50
		THERMOPLASTIC PAVEMENT MARKING - LINE										
26	78000200	4"	5,628.00	FOOT	\$1.00	\$5,628.00	\$0.60	\$3,376.80	\$0.60	\$3,376.80	\$0.60	\$3,376.80
		THERMOPLASTIC PAVEMENT MARKING - LINE										
27	78000300	5"	214.00	FOOT	\$1.00	\$214.00	\$0.75	\$160.50	\$0.75	\$160.50	\$0.75	\$160.50
		THERMOPLASTIC PAVEMENT MARKING - LINE										
28	78000400	6"	1,171.00	FOOT	\$1.60	\$1,873.60	\$0.90	\$1,053.90	\$0.90	\$1,053.90	\$0.90	\$1,053.90
		THERMOPLASTIC PAVEMENT MARKING - LINE										
29	78000600		946.00	FOOT	\$3.20	\$3,027.20	\$1.50	\$1,419.00	\$1.50	\$1,419.00	\$1.50	\$1,419.00
		THERMOPLASTIC PAVEMENT MARKING - LINE										
30	78000650		82.00	FOOT	\$6.40	\$524.80	\$4.00	\$328.00	\$4.00	\$328.00	\$4.00	\$328.00
31		PAINT PAVEMENT MARKING - LINE 4"	867.00	FOOT	\$0.20	\$173.40	\$0.50	\$433.50	\$0.48	\$416.16	\$0.04	\$34.68
32	78001120	PAINT PAVEMENT MARKING - LINE 5"	3,483.00	FOOT	\$0.30	\$1,044.90	\$0.60	\$2,089.80	\$0.60	\$2,089.80	\$0.04	\$139.32
		RAISED REFLECTIVE PAVEMENT MARKER										
33	78300200	REMOVAL	185.00	EACH	\$10.00	\$1,850.00	\$1.00	\$185.00	\$8.50	\$1,572.50	\$5.00	\$925.00
34	88600600	DETECTOR LOOP REPLACEMENT	106.00	FOOT	\$20.00	\$2,120.00	\$35.00	\$3,710.00	\$33.00	\$3,498.00	\$32.70	
35	LC400202	SEAL COAT	1,562.00	SQ YD	\$1.25	\$1,952.50	\$2.00	\$3,124.00	\$4.00	\$6,248.00	\$2.60	\$4,061.20
		HOT-MIX ASPHALT SURFACE REMOVAL,										
36	X4401198	VARIABLE DEPTH	599.00	SQ YD	\$5.00	\$2,995.00	\$2.50	\$1,497.50	\$3.75	\$2,246.25	\$8.00	\$4,792.00
37		ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	2.00	CAL MO	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00
		TRAFFIC CONTROL AND PROTECTION,										
38	X7010216	(SPECIAL)	1.00	L SUM	\$25,000.00	\$25,000.00	\$32,500.00	\$32,500.00	\$20,000.00	\$20,000.00	\$9,300.00	\$9,300.00
39		RECESSED REFLECTIVE PAVEMENT MARKER	119.00	EACH	\$50.00	\$5,950.00	\$30.00	\$3,570.00	\$30.00	\$3,570.00	\$30.00	
40	XX006343	SEEDING (COMPLETE)	7.00	SQ YD	\$1.25	\$8.75	\$100.00	\$700.00	\$60.00	\$420.00	\$75.00	
		Bid Total				\$389,358.96		\$339,732.69		\$351,139.62		\$279,077.49



**Project:** Quentin Road Resurfacing

**Section:** 15-00051-10-RS

**Description:** Mill, Patch and Resurface

					Eng Est	imate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	40600275	BITUMINOUS MATERIALS (PRIME COAT)	38,776	LB	\$0.01	\$387.76	\$0.01	\$0.01	\$0.01
2	40600535	LEVELING BINDER (HAND METHOD), N70	20	TON	\$350.00	\$7,000.00	\$75.00	\$160.00	\$128.33
		POLYMERIZED LEVELING BINDER (MACHINE							
3	40600827	METHOD), IL-4.75, N50	564	TON	\$90.00	\$50,760.00	\$94.00	\$105.00	\$100.00
		HOT-MIX ASPHALT SURFACE COURSE, MIX							
4	40603340	"D", N70	1,196	TON	\$90.00	\$107,640.00	\$67.80	\$80.00	\$73.60
5	42001300	PROTECTIVE COAT	65	SQ YD	\$3.00	\$195.00	\$2.00	\$10.00	\$5.33
		PORTLAND CEMENT CONCRETE SIDEWALK 5							
6	42400200	INCH	288	SQ FT	\$12.00	\$3,456.00	\$9.00	\$20.00	\$13.83
7	42400800	DETECTABLE WARNINGS	80	SQ FT	\$50.00	\$4,000.00	\$40.00	\$45.00	\$41.67
8	44000158	HOT-MIX ASPHALT SURFACE REMOVAL 2 1/4"	14,321	SQ YD	\$3.00	\$42,963.00	\$2.50	\$3.00	\$2.80
9	44000500	COMBINATION CURB AND GUTTER REMOVAL	100	FOOT	\$8.00	\$800.00	\$10.00	\$40.00	\$26.00
10	44000600	SIDEWALK REMOVAL	288	SQ FT	\$5.00	\$1,440.00	\$4.75	\$10.00	\$8.08
11	44201773	CLASS D PATCHES, TYPE I, 10 INCH	75	SQ YD	\$60.00	\$4,500.00	\$25.00	\$77.00	\$54.00
12	44201777	CLASS D PATCHES, TYPE II, 10 INCH	112	SQ YD	\$60.00	\$6,720.00	\$25.00	\$74.00	\$53.00
13	44201781	CLASS D PATCHES, TYPE III, 10 INCH	336	SQ YD	\$60.00	\$20,160.00	\$25.00	\$70.00	\$51.67
14	44201783	CLASS D PATCHES, TYPE IV, 10 INCH	224	SQ YD	\$60.00	\$13,440.00	\$25.00	\$65.00	\$50.00



**Project:** Quentin Road Resurfacing

**Section:** 15-00051-10-RS

**Description:** Mill, Patch and Resurface

					Eng Est	imate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		COMBINATION CONCRETE CURB & GUTTER,							
15		TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	100	FOOT	\$40.00	\$4,000.00			
16	67100100	MOBILIZATION	1	L SUM	\$50,000.00	\$50,000.00			
17	70300100	SHORT TERM PAVEMENT MARKING	4,758	FOOT	\$0.10	\$475.80	\$0.01	\$0.20	\$0.07
18		TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	218	SQ FT	\$1.00	\$218.00	\$0.01	\$1.35	\$0.46
10	70300210	AND STIVIBOLS	210	3Q F1	\$1.00	\$218.00	\$0.01	\$1.55	Ş0.46
19	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	6,420	FOOT	\$0.25	\$1,605.00	\$0.01	\$0.45	\$0.16
20	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	3,697	FOOT	\$0.25	\$924.25	\$0.01	\$0.55	\$0.19
21	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	1,171	FOOT	\$0.25	\$292.75	\$0.01	\$0.70	\$0.24
22	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	946	FOOT	\$0.50	\$473.00	\$0.01	\$1.35	\$0.46
23	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	82	FOOT	\$2.50	\$205.00	\$0.01	\$2.70	\$0.91
24	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	6,601	FOOT	\$1.25	\$8,251.25	\$0.01		
		THERMOPLASTIC PAVEMENT MARKING -	, -			. ,			
25	78000100	LETTERS AND SYMBOLS	218	SQ FT	\$5.00	\$1,090.00	\$3.75	\$3.75	\$3.75



Project: Quentin Road Resurfacing

**Section:** 15-00051-10-RS

**Description:** Mill, Patch and Resurface

					Eng Est	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		THERMOPLASTIC PAVEMENT MARKING - LINE							
26	78000200	4"	5,628	FOOT	\$1.00	\$5,628.00	\$0.60	\$0.60	\$0.60
		THERMOPLASTIC PAVEMENT MARKING - LINE							
27	78000300	5"	214	FOOT	\$1.00	\$214.00	\$0.75	\$0.75	\$0.75
		THERMOPLASTIC PAVEMENT MARKING - LINE							
28	78000400	6"	1,171	FOOT	\$1.60	\$1,873.60	\$0.90	\$0.90	\$0.90
		THERMOPLASTIC PAVEMENT MARKING - LINE							
29	78000600	12"	946	FOOT	\$3.20	\$3,027.20	\$1.50	\$1.50	\$1.50
		THERMOPLASTIC PAVEMENT MARKING - LINE							
30	78000650	24"	82	FOOT	\$6.40	\$524.80	\$4.00	\$4.00	\$4.00
31	78001110	PAINT PAVEMENT MARKING - LINE 4"	867	FOOT	\$0.20	\$173.40	\$0.04	\$0.50	\$0.34
32	78001120	PAINT PAVEMENT MARKING - LINE 5"	3,483	FOOT	\$0.30	\$1,044.90	\$0.04	\$0.60	\$0.41
		RAISED REFLECTIVE PAVEMENT MARKER							
33	78300200	REMOVAL	185	EACH	\$10.00	\$1,850.00	\$1.00	\$8.50	
34	88600600	DETECTOR LOOP REPLACEMENT	106	FOOT	\$20.00	\$2,120.00	\$32.70	\$35.00	-
35	LC400202	SEAL COAT	1,562	SQ YD	\$1.25	\$1,952.50	\$2.00	\$4.00	\$2.87
		HOT-MIX ASPHALT SURFACE REMOVAL,							
36	X4401198	VARIABLE DEPTH	599	SQ YD	\$5.00	\$2,995.00	\$2.50	\$8.00	\$4.75
37	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	2	CAL MO	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00	\$2,833.33



Project: Quentin Road Resurfacing

**Section:** 15-00051-10-RS

**Description:** Mill, Patch and Resurface

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
		TRAFFIC CONTROL AND PROTECTION,							
38	X7010216	(SPECIAL)	1	L SUM	\$25,000.00	\$25,000.00	\$9,300.00	\$32,500.00	\$20,600.00
39	X7810300	RECESSED REFLECTIVE PAVEMENT MARKER	119	EACH	\$50.00	\$5,950.00	\$30.00	\$30.00	\$30.00
40	XX006343	SEEDING (COMPLETE)	7	SQ YD	\$1.25	\$8.75	\$60.00	\$100.00	\$78.33
		Bid Total				\$389,358.96			